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P (Empij|T ≥ j) =
exp (β′

EMPXij)

1 + exp (β′
EMPXij)

, P r (ALMPt) =
exp (β′

ALMPXA)

1 + exp (β′
ALMPXA)

β′
ALMPXA = αALMP +

t=7∑
t=1

δtDit +
t=7∑
t=1

r=2001∑
r=1998

γrtDrDit + η1PREV UIt

+η2D1999 + η3D2000 + η4D2001 + η5Xt

β′
EmpX = α+

t=7∑
t=1

τtDit+λ1P (ALMPt = 1) (1− ALMP )+λ2ALMPt+λ3PREV UIt+λ4Xt

t=7∑
t=1

δtDit

PREV UI
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ALMP
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L = LEmp × LALMP

LEmp =

(
exp (β′

EMPX)

1 + exp (β′
EMPX)

)EMP (
1

1 + exp (β′
EMPX)

)1−EMP j−1∏
k=1

(
1

1 + exp (β′
EMPX)

)

EMP

LALMP =

[
exp (β′

ALMPXA)

1 + exp (β′
ALMPXA)

]δALMP [
1

1 + exp (β′
ALMPXA)

]1−δALMP

j−1∏
k=1

[
1

1 + exp (β′
ALMPXA)

]

δALMP

P (Hij|T ≥ j) =
exp (β′

HXij)

1 + exp (β′
HX) + exp (β′

LX) + exp (β′
NX)



P (Lij|T ≥ j) =
exp (β′

LXij)

1 + exp (β′
HX) + exp (β′

LX) + exp (β′
NX)

P (Nij|T ≥ j) =
exp (β′

NXij)

1 + exp (β′
HX) + exp (β′

LX) + exp (β′
NX)

Pr (ALMPt) =
exp (β′

ALMPXA)

1 + exp (β′
HX) + exp (β′

LX) + exp (β′
NX)

dε {H,L,N} H L N

β′
ALMP,XA = αALMP +

t=7∑
t=1

δALMP
t Dit +

t=7∑
t=1

r=2001∑
r=1998

γrtDrDit + η1PREV UIt

+η2D1999 + η3D2000 + η4D2001 + η5Xt

β′
dX = αd+

t=7∑
t=1

τ dt Dit+λd
1P (ALMPt = 1) (1− ALMP )+λd

2ALMPt+λ3PREV UIt+λd
4Xt

dε {H,L,N}
j

L = LWage × LALMP



LWage =

[
exp (β′

HX)

1 + exp (β′
HX) + exp (β′

LX) + exp (β′
NX)

]δH

[
exp (β′

LX)

1 + exp (β′
HX) + exp (β′

LX) + exp (β′
NX)

]δL

[
exp (β′

NX)

1 + exp (β′
HX) + exp (β′

LX) + exp (β′
NX)

]δN

[
1

1 + exp (β′
HX) + exp (β′

LX) + exp (β′
NX)

]1−δH−δL−δN
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1

1 + exp (β′
HX) + exp (β′
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[
exp (β′
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µ M

πm m =

1, ...M µ

Lm (ϑ|µ)
ϑ

L∗ =
M∑

m=1

πmLm (ϑ|µ)

M∑
m=1

πm = 1

β′
HX + µH

β′
LX + µL β′

NX + µN

β′
ALMPXA β′

ALMPXA+µALMP m = 2

L∗ = πEmpL1 (ϑ|µEmp, µALMP,Emp) + (1− πEmp)L2 (ϑ)

πEmp =
exp (aEmp)

1 + exp (aEmp)

L∗ = πWageL1 (ϑ|µH , µL, µN , µALMP,Emp) + (1− πWage)L2 (ϑ)

πWage =
exp (aWage)

1 + exp (aWage)



1−π

{µEmp, µALMP,Emp, aEmp}
{µH , µL, µN , µALMP,Emp, aWage}

�
�

OR =

h (β1 (x1 +�) + ...)

1− h (β1 (x1 +�) + ...)

h (β1x1 + ...)

1− h (β1x1 + ...)

=
exp (β1 (x1 +�) + ...)

exp (β1x1 + ...)
= exp (β1�)

lim

h → 0

h (β1 (x1 +�) + ...)

1− h (β1 (x1 +�) + ...)

h (β1x1 + ...)

1− h (β1x1 + ...)

=

h (β1 (x1 +�) + ...)

1
h (β1x1 + ...)

1

=
h (β1 (x1 +�) + ...)

h (β1x1 + ...)

ODDSHL =
hH (β′

HX)

hL (β′
LX)

=

exp (β′
HX)

1 +
∑

K exp (βKX)

exp (β′
LX)

1 +
∑

K exp (βKX)

=
exp (β′

HX)

exp (β′
LX)

= exp ([β′
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ODDSHL = exp ([βH1 − βL1] x1 + ...)

�

ODDSHL,� = exp ([βH1 − βL1] (x1 +∆) + ...)

x1

OR =
exp ([βH1 − βL1] (x1 +∆) + ...)

exp ([βH1 − βL1] x1 + ...)
= exp ([βH1 − βL1]�)
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LR =

−2 (−53245.467− (−51914.988)) = 2661 χ2
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(µALMP ;µEmployment) = (0; 0)

(µALMP ;µEmployment) = (−4.07 ; 0.93)

π =
exp(1.54)

1 + exp(1.54)
= 0.82
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(µALMP ;µH ;µL;µN) = (0 ; 0 ; 0 ; 0) (µALMP ;µH ;µL;µN) = (−5.98 ; 0.89 ; 0.97 ; 1.02)

π =
exp(2.75)

1 + exp(2.75)
= 0.94
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